PROSPETTO ORARIO DDI 1D

1 8,00-8,55 LET
= 2 8,55-9,50 LET DDI
a 3 9,50-10,50 MAT DDI
% 4 | 10,50-11,45 MOT DDI
= 5 | 11,45-12,40 ART
6 | 12,40-13,35 ART
1 8,00-8,55 MAT
3 2 8,55-9,50 ING DDI
B | 3| 9501050 SPA-FRA DD
n<: 4 10,50-11,45 LET DDI
= 5 | 11,45-12,40 TEC DDI
6 | 12,40-13,35 TEC
- 1 8,00-8,55 LET
Q 2 8,55-9,50 LET DDI
o 3| 9501050 IRC DDI
2 | 4| 1050115 ING
E 5 | 11,45-12,40 MUS DDI
6 | 12,40-13,35 MAT
1 8,00-8,55 MAT
5 2 8,55-9,50 MAT DD
'-'>-' 3 9,50-10,50 SPA-FRA
o 4 | 10,50-11,45 LET DDI
O | 5 | 11451240 LET
6 | 12,40-13,35 MUS
1 8,00-8,55 LET
-E 2 8,55-9,50 LET DDI
E 3 9,50-10,50 LET
E 4 10,50-11,45 MAT DDI
> 5 | 11,45-12,40 ING DDI
6 | 12,40-13,35 MOT




